20224 FEASCA —{n] Hlt X K Pk i F R 2 1/2
IR 20224E7TH16H (1) ~7H17H (B) R SR PE SRS ] 1 A — L (25m)
No.20 BB+ 50m FEikF A LL—R R KK 34.62
L 10FBLUT >
EhI K 4 T & 2E KE B
1 ZE —E 8RS SKI /s 14/ 6 38. 56 10i%%
2 Wi & S S CYIE /N 13/ 6 42.10 9%
3 i B2 M EYRSCrR /S 12/ 1 42. 44 8k
4 IEARK— %SRS C /M 13/ 1 44.02 8k
5 /N sEA S S C&AE N5 11/ 2 44. 34 6%
6 JEK BE L8RS SIS 4 11/ 7 46.04 *T&) 5k
T RE H L8S SHA /M 10/ 6 46. 85 5%
8 #k 7 o3 N4 8/ 2 47.11 6k
9 EHi JER) S S CHRAE /N3 8/ 1 47.32 6%
10 ¥y 2 i HiES S /N4 8/ 4 47. 11 6%
11 | 9\ A8k S SHA /) 9/ 7 48. 06 4%
12 & R N YT 4y ) /N4 8/ 3 48. 65 5%
13 Vahe]  $hifE KBS SHIA /b 9/ 1 48. 72 A%
14 1)1 Fa52 oS IEMW ! 8/ 6 49. 71 35
15 JIE PR oI EW /N3 8/ 7 49.99 *T®# 5#%
16 [UH $3% M E®R S C /b 8/ 5 51.04 2%
17 Kili KE: 216 - 3 ! 6/ 6 52. 65 1%
18 JEH  JEA RS S /NB 5/ 5 52.97 *TH Ltk
19 K7 4h9w =2 1T /N4 4/ 4 53.00 3%
20 el K8k S SHIA /N3 6/ 2 54.06 *T@h 25k
21 JEA  FHK (I EEILSCrE /)M 4/ 6 54.70
22 /NFR - All%A M FEILSCRE /)M 6/ 1 54.95 2%
23 HII & =PAVS 1] ! 3/ 2 56. 28
24 R HIT BiES S ! 5/ 1 56. 32
24 & T8k o3 E /N4 5/ 7 56. 32
26 FH  felh = X AR ! 4/ 1 56. 68 1%
27 K%y ik LS SKIE /N3 5/ 6 56. 98 45%
28 ®H Fijze TS S /NG 5/ 4 58.73
29 HE  ZERk 216 - 3 /N3 4/ 5 58.90 *F&) 3%
30 JE# Pl IR S C /13 2/ 4 59. 00 3%
31 i He =AVE 1) /N3 4/ 2 1:00. 75 *T& 2%
32 fPF RZE AVITY IN2 3/ 3 1:02.59 Ltk
33 MR e = 2 AR /N3 1/ 4 1:03. 71
34 LK KER oI EW /N3 3/ 1 1:04.92 *T@
35 KA B MG REYRSCrEE /N3 2/ 5 1:06. 14
36 JHENE  BEMA PR EESR S C /N2 2/ 2 1:06.58
RYER/ N g 2V IIN2 1/ 7 1:07.42 *F&)
38 LI fpkE = 2 AR /N3 1/ 5 1:11.59 *T@)
39 il ShE = 2 AR /N3 1/ 3 1:14.98
40 fLEk B SNz 17 2/ 6 1:17.02 *F@
/INEF T IR FEIRSCrE /N2 1/ 2 %k#&1.2
J\H  —EBR = X AR /N3 1/ 6 K#&7.2
T BiAE o) I Em /N 2/ 3 k#%1.6
Ry cH MG REYRSCrE /N2 3/ 7T K¥1.2
OPN /& ath GRS S N5 12/ T 41. 94 8%
OPN & H{E—ER RS S /NE 11/ 1 44.53 6%
OPN [l H P FBIRS S /N2 7/ 7 57.29 A
No.20 BBF 50m k= B4 LL—RREE aEg 3217
L1112 >
B & 4 T & 2E KE B FE
HAOBRME: 7TH17TH 13:16



20224F FEEASCA = {a] M XK PR B 2 K 2% 2/2
IR 20224E7TH16H (1) ~7H17H (B) R SR PE SRS ] 1 A — L (25m)
No.20 BBF 50m k= BA L L—R R S5 32.17
L1112 >
EhI K 4 T & 2E KE B
1 BlE IE%E BHSS /N6 13/ 4 40. 15 7%
2 FE M5 S S CHtR L 14/ 1 40. 25 5%
3 gk A S S C&AE N6 14/ T 40. 35 5k
4 FhiAR  HEAF o3 E 112/ 3 40. 38 5#%
5 ik E BHES S /N6 13/ 3 40. 40 Tk
6 WH BK MR FESLSCrE /6 12/ 6 41.73 4%
7 _EHKER BiES S /N6 12/ 5 41.83 6%
8 ERIIKE sL6 - 3 F1 11/ 5 42.17 A%
9 ¥ 24 8RS SKAIE 6 12/ 2 42.39 5%
10 /NAEJR IR R IRSCrE /N6 7/ 4 42.96 5%
11 I/ e LS SR /6 13/ 7 43.31 *F#) 5%
12 KA & =) 2 ERD N6 11/ 4 43.35 5%
13 g B S S CYIR /N5 11/ 3 43.52 5k
=T I = S S CPHR 1 10/ 2 44.17 2
15 Kl ZpE ZERS SHA /5 11/ 6 44.58 45%
16 84K f&K ED R /N6 10/ 3 44. 64 4%
17 TN AR 8RS SXIA /e 13/ 2 44. 69 25
18 % EIK S S CHRAE NG 7/ 3 45.15 45%
19 #2)1| i MR TG 3SCrE /N6 10/ 4 45. 95 3%
20 NNk EERK HiES S /N5 10/ 1 46. 89 2%
21 AN 2L 6 - 3 NG 9/ 5 46. 92 2%
22 /INALE JEUR o % EARg NG 7/ 5 47. 34 2%
23 K¥E EA oI EW /NG 10/ 7 47. 40 25
24 [E1WE  WCFH =PANE 1) NG 9/ 6 47. 61 25
25 KK HRFH IR S C /)6 6/ 4 49.18 1%
26 LI REEE o AR 1 9/ 3 49. 24
21 &4y 1 S S CRAE /N6 4/ 3 o1.46
28 &P LK TA VLT A NG 5/ 3 51.65
29 R EKR LYS S /N5 6/ 3 52.08
30 REE MR XU T 4T 6 6/ 5 52.30
31 BER #H =7 S AR /INB 7/ 1 53. 05
JEava % [ FEIRSCRE /1N 5/ 2 K¥1.2
OPN 7&Hy JEE vE— ~NK Rl 14/ 4 34.72 9%
OPN HH FRE FEIRS S /N6 14/ 3 36. 22 84
HAOBRME: 7TH17TH 13:16



